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Quiz 5 2557-1: Matrix Switch using two printing | oop.
This version nerges | oops together. The code is |onger than

anot her | oop-nerging version, but faster because

it does not need to check if(D == 1) every loop iteration.

Aut hor: Pinyo Taeprasartsit, Dec 2, 2014

cl ude <stdi o. h>

int A[200][200];

10 int main() {

int N, D
scanf ("%", &N);
for(int row = 0; row < N, ++row) {
for(int col = 0; col < N ++col) {
scanf ("%", &A[rowj[col]);

}
}
scanf (" %", &D);
if(D==1) {
for(int row = 0; row < N, ++row) {

for(int col = 0; col < N, ++col)
printf("% ", Alrowj[(col + N2) %N]);

}
printf("\n");

} else if(D == 2) {

for(int row = 0; row < N, ++row) {
for(int col = 0; col < N ++col)
printf("% ", Al(row+ N2) %N][col]);

printf("\n");

}

return O;



